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REFHB : 19878108 (K)

HDCPLERR : ADSi~12 C S 23 A
P31 e85 84
5t - 28 A
ADSR M | Bk GROSS|HDCP| NET EES
BES| KT & 40 | 41 81 |100 | 710
2 | ho@ =2 39 |43 82 100|720
3 BN 08B 38| 36 74 (10 |730
4 [V I 38|40 78 |30 |50
5 |& (Eh=) 41 |40 81 |50 |760
6 |0 oy 3843 81 |50 |60
7 O|A EROES 42 | 44 86 |100 | 76.0
8 | AN oy 38|44 82 |30 |90
O |6H BE 48| 43 91 |100 |810
10 [/BK BX 46 | 43 89 |80 |81.0
11 EH KB 47|47 94 1100 |84.0
12 |FEB &— 48 | 47 95 (110 (840
13 |hE Bkl 5143 94 1100 840
14 |68 F=2F 59 | 46 105(11.0 {940
BOS X 6 | B GROSS|HDCP| NET EES
BN ERTF 46 | 43 89 180 |71.0
2 | KB i 47 | 41 88 |160 | 720
3 |BAN =ERF 48 | 41 89 170|720
4 XK B— 45 | 41 86 |140 | 720
5 |iEB F0FE 49 | 41 90 140 |76.0
o |BE = 49 | 46 95 |180 |7 70O
7 |EH =5} 48 |47 95 160|790
8 |M&x ZB 53 | 51 1041150 [89.0
O |68 &®XZ 53| 58 1111130 |98.0
COS2R 6 | B GROSS|HDCP| NET (EES
BEs=HE = 45|45 90 |220 |68.0
2 |8 &= 5149 100|300 | 700
NI ES 48 | 46 94 1240|700
4 |1E% [EX 51|44 95 1210|740
S |&f X 49 | 50 99 200|790
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